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m = a1 X SL = 1.191 X 24 = 28.6 N/uf
LoT m = 28.6 N/mt
(3)kEAL FEE(W/C) m = -17.4 + 26.3 X C/W
W/C = 26.3 = (28.6 + 17.4) X 100 = 57 %
W/C = 57 %
(4) BprkE (W) UTHEOEMBICEDY W = 150 keg/m
(5)HNEAY FE(C) C =W+ (W/C) X 100 = 150 +~ 57 X 100 = 263 kg/m
Cv= C =+ B = 263 =~ 3.04 = 87 2 /m
(6)Z55m(A) A = 4.5 % X 1000 = 45 2 /m
(7)MEME(s/a) élb,%w%fﬁ s/a = 43.0 %
(8)HArTMEME(S) Sv = (1000 — (W+Cv+A)) X s/a = 718 >< 43.0 % = 309 £2/m
Slv = Sv X 80.0 % = 247 2 /m S1= SIvXEBEEE = 247 X 2.59 = 640 keg/mt
S2vy = Sv X 20.0 % = 62 2 /m S2= S2vXEEEE = 62 X 3.50 = 217 ke/m
(9) HALHBEM = (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 591 = 409 2 /m
Glv = Gv X 60.0 % = 245 2 /m Gl= GIvXREEE = 245 X 2.70 = 662 kg/m
G2v = Gv X 40.0 % = 164 2 /m G2= GYXEMWEE = 164 X 2.70 = 443 kg/m
(10) BAEMAIRE (AD AL = C X BMFE X BE = 263 X 0.500 % X 1.00 = 1.32 ke/md
Ad2 = C X R X BE = 263 X 0.600 % X 1.00 = 1.58 kg/m
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